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INSTRUCTIONS

1. The duration of the test is 180 Minutes (3 Hours).

2. Write your Roll Number on each page of the answer sheet.

3.Attempt all questions, each MCQ carries 1 mark.

4.A candidate has to score minimum 70% marks in aggregate to pass the test.

Section -A- English Verbal Reasoning Section (15 Marks)

1. The students behaved better.

enough
more,
most,
much

The irrigation department is cleaning the canals. They do every year.
this,

these,

that,

those
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Section-B- Analytical Reasoning Section (15 Marks)

Question 1-4 A contractor will build five houses in a certain town on a street that currently has
no houses on it. The contractor will select from seven different models of houses—T, U, V, W,
X, Y, and Z. The town's planning board has placed the following restrictions on the contractor:
No model can, be selected for more than one house. Either model W must be selected or model
Z must be selected, but both cannot be selected. If model Y is selected, then model V must also
be selected. If model U is selected, then model W cannot be selected.

1. If model U is one of the models selected for the street, then which of the following models
must also be selected?

a. T c. X e. Z

b. W d Y

2. 1f T, U, and X are three of the models selected for the street, then which of the following
must be the other two models selected?

a. Vand W c. VandZ e. YandZ

b. VandY d WandyY



3. Which of the following is an acceptable combination of models that can be selected for the
street?
a. T,U VXY

c. T,V,X Y, Z e. VW, XY, Z
b. T,U X Y,Z d. U,

V,W. X, Y

4. If model Z is one model not selected for the street, then the other model NOT selected must
be which of the following?

a. T
b. U
c. V
d W
Section C: Subject (Governance and Public Policy) Section (70 Marks)

e Governance 30 Marks
e Public Policy 30 Marks
e International Organizations & Global Governance 10 Marks

1. Which country from the following is NOT the member of UNO?

a. Vatican City c. North Korea
b. Afghanistan d. Vaitnam

2. New Public Management (NPM) is a school of public administration modelled on:

a. Instituting private sector precepts c. A hierarchical organization of the
into the public service public service

b. Contracting out public services to d. Contracting out public services to
the tertiary sector the private sector

3.Which theory stipulates that citizens are self-interested actors whose decisions fulfill their
own needs and wants

a. Economic Theory of Democracy c. Rational Choice Theory

b. Managerial Theory d. Pluralism Theory

4.The concept of "bounded rationality” was given by
a. Wax
Weber
b. F.W.
Riggs
c. Herbert
Simon
d. Abraham
Maslow



5. Keynesian model of Governance states that government could alleviate economic crises
by: -

Increasing privatization

Expanding fiscal expenditure

Reducing fiscal expenditure

Liberalizing economy
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6. Which level of government is involved in developing public policies?
federal government

state government

municipal or city government

W
a
b
c
d. All of these






